
1212
11 1

18

17
19

13

1514

2624
25 8

7

27

2830

29
23

9

20

22

6

21

2
10

16
14

4 5
3021

23 11 1212

34.744

34 3
4 "

 Double Wall Frame

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 10030734 Weldment - 34.75" Frame - Medium Duty Top Frame 1

2 10031635 Weldment - Medium Duty Swing Arm w/ Shock Ears 1

3 10003895 Bushing - ID .885" (7/8" bolt) OD 1.5" Length 3.27" 4

4 10004203 Plate - 3/8" - 3.00" OD x .89" ID - Spacer Bushing 4

5 80254 Purchased Parts - Polyurethane bushing 8

6 80389 Shock - Koni - Ext: 24.00" - Comp: 15.1875" - Eyelet Mount - 8805-1004SP1 2

7 10030860 Weldment - (DS) Shock Mount Crossmember 1

8 10031551 Weldment - (PS) Shock Mount Crossmember 1

9 10031642 Plate - 5/16" - Shock Spacer 4

10 10031599 Continental Air Bag - 64260 2

11 10031554 Assembly - Slide Shackle w/ Hardware 2

12 10984 Plate - 3/8" - Shackle 4

13 12633 Hex Bolt - 7/8"-14 x 5-1/2" - GR8 - YZ 2

14 13030 Flat Washer SAE - 7/8" - GR8 - YZ 8

15 13130 Top Distorted Thread Lock Nut - 7/8"-14 - GR8 - YZ 4

16 12641 Hex Bolt - 7/8"-14 x 6-1/2" - GR8 - YZ 2

17 13126 Top Distorted Thread Lock Nut - 5/8"-18 - GR8 - YZ 2

18 13026 Flat Washer SAE - 5/8" - GR8 - YZ 4

19 12409 Hex Bolt - 5/8"-18 x 2" - GR8 - YZ 2

20 13892 Flat Washer - M18 - Class 12.9 - YZ 8

21 13917 Hex Bolt - M18-2.5 x 100mm - Class 10.9 - YZ 2

22 13983 Hex Bolt - M18-2.5mm x 110mm - Class 10.9 - YZ 2

23 14059 Hex Nut - M18-2.5mm - Class 8 - Z 4

24 13124 Top Distorted Thread Lock Nut - 1/2"-20 - GR8 - YZ 4

25 13024 Flat Washer SAE - 1/2" - GR8 - YZ 8

26 12025 Hex Bolt - 1/2"-20 x 3-1/2" - GR8 - YZ 4

27 13022 Flat Washer SAE - 3/8" - GR8 - YZ 4

28 13122 Top Distorted Thread Lock Nut - 3/8"-24 - GR8 - YZ 2

29 12221 Hex Bolt - 3/8"-24 x 2" - GR8 - YZ 2

30 10031683 Plate - 3/8" - Frame Spacer 2

Friday, February 21, 2025 9:20:52 AM 10034779

2/21/2025

A

PART NUMBER:

PROJECT:

DESCRIPTION:

DATE:DESIGN BY:

PROJECTION
3RD ANGLE 

2024+ F650/750 Chassis Cab - Double Wall Frame - 
General Medium Duty

Approximate Weight =

NOTICE: THIS DOCUMENT AND ITS
CONTENTS ARE THE PROPERTY

OF KELDERMAN MFG.
NO USE OR COPIES

MAY BE MADE WITHOUT WRITTEN
PERMISSION FROM KELDERMAN

UNLESS
OTHERWISE SPEC.
DIMNS. IN INCHES

MATL SPECS: See Drawings

10034779

DO NOT SCALE DRAWING

Kit - 2-Stage Rear - Koni Shock Package

350.22 lbs

STD. TOLERANCES
X.X .060

X.XX .030
X.XXX .010

FRAC.DIM. 1/32"
Deg.  .5° SHEET 1 OF 2

1:16



A


	Sheet1
	Drawing View1
	Drawing View4

	Sheet2
	Drawing View2
	Detail View A (1 : 12)


